Nitrobenzene
Response Ratio

Amount Ratio

Resp Ratio = 3.39e-001 * Amt + 1.24e-003
Coef of Det (r"2) = 0.996 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF020318_.M
Calibration Table Last Updated: Mon Feb 05 00:38:27 2018




2-Nitrophenol
Response Ratio

Amount Ratio

Resp Ratio = 1.70e-001 * Amt - 7.37e-002
Coef of Det (r"2) = 0.994 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF020318_.M
Calibration Table Last Updated: Mon Feb 05 00:38:27 2018




2-Nitroaniline
Response Ratio

Amount Ratio

Resp Ratio = 4.41e-001 * Amt - 7.66e-002
Coef of Det (r"2) = 0.996 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF020318_.M
Calibration Table Last Updated: Mon Feb 05 00:38:27 2018




4-Nitrophenol
Response Ratio

1.2+

Amount Ratio

Resp Ratio = 3.16e-001 * Amt - 6.36e-002
Coef of Det (r"2) = 0.995 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF020318_.M
Calibration Table Last Updated: Mon Feb 05 00:38:27 2018




2,4-Dinitrotoluene
Response Ratio

1.6+

1.4+

1.2+

Amount Ratio

Resp Ratio = 4.25e-001 * Amt - 6.54e-002
Coef of Det (r"2) = 0.995 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF020318_.M
Calibration Table Last Updated: Mon Feb 05 00:38:27 2018




Butylbenzylphthalate
Response Ratio

Amount Ratio

Resp Ratio = 7.67e-001 * Amt - 3.93e-002
Coef of Det (r"2) = 0.998 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF020318_.M
Calibration Table Last Updated: Mon Feb 05 00:38:27 2018




4,6-Dinitro-2-methylphenol
Response Ratio

0.4—

Amount Ratio

R = 6.18e-003 A*A + 8.43e-002 A - 3.83e-002
Coef of Det (r"2) = 0.991 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF020318_.M
Calibration Table Last Updated: Mon Feb 05 00:38:27 2018




2,4-Dinitrophenol
Response Ratio

Amount Ratio

R = 1.67e-002 A*A + 3.74e-002 A - 1.74e-002
Coef of Det (r"2) = 0.994 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF020318_.M
Calibration Table Last Updated: Mon Feb 05 00:38:27 2018




Benzoic acid
Response Ratio

Amount Ratio

R = 1.86e-002 A*A + 1.88e-001 A - 8.39e-002
Coef of Det (r™2) = 0.993 Curve Fit: Quadratic

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF020318_.M
Calibration Table Last Updated: Mon Feb 05 00:38:27 2018




